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(Efr: M)
EhEFRE REERH RIEERE i-p
153 BEEEMBEULA 3,031,000 0 3,031,000
% iz [195 % i & I A 1,242,000 1,100,000 142,000
® 163 & & I A 114,072,991 121,820,025 A 7,747,034
| A 164 FARISZHK9FI FAFHIRA 300,800 566,100 A 265,300
165 # )4 A 1,388,860 1,378,400 10,460
2 BERFEIAG() 120,035,651 124,864,525 A 4,828,874
Iy 101 A # & X H 97,538,811 99,936,177 A 2,397,366
5| % 102 % % &8 X W 2,911,144 3,289,182 A 378,038
103 F % &8 ¥ H 14,610,146 15,648,238 A 1,038,092
o2 8 @ m om B 295,162 132,985 162,177
£ EXEEBIHF2) 115,355,263 119,006,582 A 3,651,319
EXEH I X EZEB=(1)-(2 4,680,388 5,857,943 A 1,177,555
5| 186 ZEXF| REL HEUNA 14,293 13,097 1,196
£ 188 FFEX D REBEAEINA 7,625,394 0 7,625,394
g NETS ) 7,639,687 13,097 7,626,590
a1 136 EAZHMEBEXH 0 0 0
”é % |137 REEMUMBA S X H 4,772,510 4,683,788 88,722
g?s H (138 RERHREIEASZH 7,625,394 0 7,625,394
EXREEH X HEHOG) 12,397,904 4,683,788 7,714,116
FETEIINKZE%E(6)=(4)-(5) A 4758217 A 4,670,691 A 87,526
¥ % I X = ZT)=3)+6) A 77,829 1,187,252 A 1,265,081
| R |51 Azte) 0 0 0
Al
1 =
ai) mlGEEEHIO) 0 0 0
G % 3 IR X = H10-0-©) 0 0 0
4 H 5F B IR X ZE £B(11)=(7)+(10) A 77,829 1,187,252 A 1,265,081
ATEAR R BNIN S = 58(12) 72,963,665 71,776,413 1,187,252
ET L SRARUE B IR Z4E(13)=(11)+(12) 72,885,836 72,963,665 A 77,829
Iz 199 & KX & E AR %E(14) 0 0 0
X 149 2 KX £ # A %9 0 0 0
g? 200 =Dt DFEIL & HYAREE(16) 0 0 0
150 Z D DIEIL EFRILZE(1T) 0 0 0
REAIRHEENUN ST ZEE(18)=(13)+(14)-(15)+(16)—(17) 72,885,836 72,963,665 A 77,829




